Question Paper Preview

Notations :
1.Options shown in green color and with ¥ icon are correct

2.0Options shown in red color and with * icon are incorrect.

Question Paper Name :

Paper I Telugu 27th Jun 2025 Shift 1

Subject Name : Paper I Telugu

Duration : 150

Total Marks : 150

Display Marks: Yes

Share Answer Key With Delivery Engine : Yes

Actual Answer Key : Yes

Change Font Color : No

Change Background Color : No

Change Theme : No

Help Button : No

Show Reports : No

Show Progress Bar : No

Paper I Telugu

Group Number : 1

Group Id : 86579914

Group Maximum Duration : 0

Group Minimum Duration : 150

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 150
Child Development and Pedagogy

Section Id : 86579966

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 30

Number of Questions to be attempted : 30

Section Marks : 30

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 865799105



Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 8657991990 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Saachi 1s a eight year old girl. Her house 1s next to a classical dance school and
she watches other children learn dance. Saachi also started to feel that she
should learn dance and decided to join dance school but her mother said she
cannot afford to pay the monthly fee. Saachi then started to see the dance
classes from the window and started practice. On seeing her interest, the dance
school management admitted her by waiving the fee. In this example. the initial
motive of Saachi is
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Saachi's feeling to learn dance
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Question Number : 2 Question Id : 8657991991 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the environmental factors among the following that influence learning
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A) Learner related factors
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Choose the correct answer
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Question Number : 3 Question Id : 8657991992 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The law of learning of Thorndike that relates to providing positive feedback by

the teacher to enhance students learning 1s
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Question Number : 4 Question Id : 8657991993 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Yukti, a two year old girl, went to a new country for vacation along with her
parents. While waiting at the hotel reception. a stranger from that country
came and took Yukti into his arms. Yukti cried and went to her mother. Yulkti,
started to cry or hold her mother tightly whenever she saw a person of that

country near her. This 1s an example of this concept of classical conditioning

theory
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Question Number : S Question Id : 8657991994 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In this type of learning, teacher has to evoke appropriate responses and fix them

with suitable reinforcement
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Operant conditioning
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Question Number : 6 Question Id : 8657991995 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Ruchika 1s a six year old girl. Her mother Anamika malkes wrist bands of
different patterns with beads. Ruchika told Anamika that she also wanted to
make wrist bands. Anamika knew that Ruchika cannot make complex patterns
but can learn to do simple bands using one or two colours. Anamika helped
Ruchika till she could make simple bands independently. This is an example for
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this concept put forth by Vygotsky
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Question Number : 7 Question Id : 8657991996 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Learning performed through physical actions and senses comes under
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Cognitive
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Question Number : 8 Question Id : 8657991997 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In intrinsic motivation. a person performs an activity to
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derive pleasure
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Question Number : 9 Question Id : 8657991998 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Ramesh 13 a seventy year old man. His nephew who moved to another country
thirty years ago came to him. When his nephew was asking him about certain
things and incidents that happened before he left. Ramesh could not recall or

recognize. This type of forgetting is
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Question Number : 10 Question Id : 8657991999 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identification of the following. helps in seeking maximum positive transfer
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C) Dissimilarities
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Question Number : 11 Question Id : 8657992000 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘Catering to the needs as per the soclo-cultural background' should be

understood as children from any background should
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not be allowed to sit in one classroom
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be categorised based on abilities
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not be deprived of learning opportunities
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be taught through common methodology
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Question Number : 12 Question Id : 8657992001 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Assessment of learners and actions and reactions happen during this phase of

teaching
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Question Number : 13 Question Id : 8657992002 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The first step in observational learning 1s
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Question Number : 14 Question Id : 8657992003 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
This section of the Rights of Persons with Disabilities (RPwD) Act, 2016 deals
with protection of persons with disabilities from cruelty and inhuman treatment
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Question Number : 15 Question Id : 8657992004 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The National Curriculum Framework (2005) has established a need to
recognize the child as a natural learner and knowledge as
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Question Number : 16 Question Id : 8657992005 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following 1s an objective of classroom management
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to create high competition among students
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to create conducive environment for learning
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to make all students learn at the same level
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Question Number : 17 Question Id : 8657992006 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In the Protection of Children from Sexual Offences (POCSO) Act, 2012 a “child’
13 defined as any person below the age of
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Question Number : 18 Question Id : 8657992007 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which among the following will have an influence on interaction between
teacher, student and content?
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A) Seating arrangement
58300 e5d
B) Bramstorming sessions
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C) Smart classroom
(Choose the correct answer
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Question Number : 19 Question Id : 8657992008 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

This type of guidance aims to stop wastage and mis-utilisation of time, money
and labour that may occur in preparation of individuals for a profession to
which they do not suit
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Question Number : 20 Question Id : 8657992009 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Learning the meaning of the terms ‘schema’, ‘assimilation’. ‘accommodation’,
‘equilibration’, etc. will be helpful in understanding the structure of Piaget’s
cognitive development theory more. This is an example for the learning

advocated by

#

‘o:_,_-'“.‘ :__I___._rz_\_-' T ey A - - AL ‘-T': L. - =
e, ‘SPod8lmo’, ‘wiieso’, Wihded ZndEs Sore TR B B0 By HAFE

’

doePard 8 O5°d Atrodo GnE) QTR shbod wlo THEHEAS JFchihthi@od. 8

Options :

Pavlov

=
=

> oh
otV od ol

1. %

Bruner

grab

2. ¢

Thorndike

605



Question Number : 21 Question Id : 8657992010 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following statements and identify the correct answer
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A) Cephalo caudal principle of development means development proceeds in
the direction of longitudinal axis
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B) A child at first gains control over his head and arms and then on his legs
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Options :
A 15 false B 1s true
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Both A and B are true and B 1s not 1n accordance with A
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Question Number : 22 Question Id : 8657992011 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

When we say most babies start to stand without support at about 10 months of
age we are talking about
orer H08 heen 10 Jve $6hind® 2 sprdo BHor Joakto ErSodrdd Hido
B255900 S0 B B0 SreeprHdiaeEn

Options :

Learning

egisddo

Maturation

2. o

Training

O nay
3560

Achievement

L‘J-"

APEIR



Question Number : 23 Question Id : 8657992012 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following is NOT a characteristic of socially matured person
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Options :

Greater degree of adjustability
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Question Number : 24 Question Id : 8657992013 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following statements and identify the correct answer
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Statement A : Maturation leads to accomplishment of developmental tasks
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Statement B : Developmental tasks help in adjustment with self and others
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Options :

Both Statements A and B are true
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Question Number : 25 Question Id : 8657992014 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to Erikson, if the teacher or parent of a child in this age group does
not express satisfaction in the work of the child, the child tends to develop
inferiority
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Question Number : 26 Question Id : 8657992015 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
When Kuldeep was playing with his toys it started raining outside. He got up
and told his mother ‘take me to the park, rain has come to play with me’.

Kuldeep 1= in this phase of cognitive development according to Piaget
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Question Number : 27 Question Id : 8657992016 Question Type
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

: MCQ Option Shuffling : Yes
Thinking that results in creating something new 1s
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Question Number : 28 Question Id : 8657992017 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Suguna, a high school student got a call from her cousins to come for a weekend
holiday with them. Suguna said such holiday does not figure in the rules given
by her parents. When her cousins asked her to convince her parents, Suguna
sald they are strict and do not respond on this. The child rearing practice of
Suguna’s parents 1s
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Question Number : 29 Question Id : 8657992018 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Charan 1s a school age boy who was always ridiculed by his cousins and friends
for being wealk in studies. Charan joined the horse riding club in the school and
grew up to be the best ‘Jockey’ in the country. Charan's achievement i1z an
example for this defense mechanism
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Question Number : 30 Question Id : 8657992019 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

From among the following, identify the one that needs to be adopted to bring
reliability to the rating technique
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Options :
Assign rating work to only the individual being rated

E wfovm =)

R e e fBE ot S S.p -
elaletal Sa et 83:88 dr@sh 0don 203 stronoditio

Assign rating work to only one judge

2.8 Troh) gﬂ_;’f:_; -52:"@5 Hof 5 Béronodto
(2
2. ¥
Asslgn rating work to many number of judges
- oR% 08 TaNNtEuh G8oh HIA Stronosto

Assign rating work to those who do not know the person being rated
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Question Id : 8657992020 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (31 to 34)
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Question Number : 31 Question Id : 8657992021 Question Type :

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 8657992022 Question Type :

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 8657992023 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 8657992024 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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: MCQ Option Shuffling : Yes

: MCQ Option Shuffling : Yes



Sub-Section Number : 2
Sub-Section Id : 865799107
Question Shuffling Allowed : Yes



Question Id : 8657992025 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (35 to 38)
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Question Number : 35 Question Id : 8657992026 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 36 Question Id : 8657992027 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 8657992028 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 8657992029 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 3
Sub-Section Id : 865799108
Question Shuffling Allowed : Yes

Question Number : 39 Question Id : 8657992030 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 8657992031 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 41 Question Id : 8657992032 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 8657992033 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this
question if any of the correct options are chosen.

Question Number : 43 Question Id : 8657992034 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 8657992035 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 8657992036 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 8657992037 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 8657992038 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 8657992039 Question Type

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 8657992040 Question Type

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

: MCQ Option Shuffling : Yes

: MCQ Option Shuffling : Yes



Question Number : 50 Question Id : 8657992041 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 8657992042 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 8657992043 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 8657992044 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 8657992045 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 8657992046 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 8657992047 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 8657992048 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 8657992049 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 8657992050 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 8657992051 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Language II English

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :
Number of Questions to be attempted :
Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

86579968
3

Online
Mandatory
26

26

30

0

1
865799109
Yes



Question Id : 8657992052 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (61 to 65)

(61-65) Read the following passage and choose the correct option for
each question.

ICT stands for Information and Communication Technology. It includes a
diverse set of technological tools and resources used to communicate, create,
disseminate, store. and manage nformation. ICT includes computers, the
Internet, broadcasting technologies {:1‘adi0 and telev'isiﬂn:}l and telephony. In
digital technology. translation of information into binary format (zero or one)
where each bit is a representative of two distinct amplitudes, whereas in analog
technology. information iz translated into electric pulses of varying amplitude.
UNESCO defines informatics as the science dealing with the design. realization,
evaluation. use, and maintenance of information processing systems, including
hardware, software. organizational and human aspects., and the industrial
commercial, governmental and political implications of these.

People use technology every day at home and at workplace. ICT tools
enable anytime, anywhere access to information and resources. The various ICT
tools that are used include computers we use at work, smartphones through
which we talk, Internet for getting information. communicating with others
through e-mail and social networks, watching movies and TV shows, ete.

ICT skills help us to communicate, run our business and stay connected
with our family and friends. Hence, every person needs to acquire ICT slkills and

build them to stay updated with the latest software and applications.

Sub questions

Question Number : 61 Question Id : 8657992053 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The following statement is NO'T mentioned in the passage.
Options :

ICT tools enable anytime, anywhere access to information and resources.
1. ®



ICT has increased distractions among students due to easy access to social

media.
2.
We communicate with others using email and social media platforms.
3. %
ICT includes computers, the Internet, broadeasting technologies and
telephony.
4. %

Question Number : 62 Question Id : 8657992054 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
ICT stands for
Options :

Information and Commemoration Technology.

1. ®

Informatics and Communieation Technology.
2. %

Information and Communicative Technology.
3. ®

Information and Communication Technology.
4. ¢

Question Number : 63 Question Id : 8657992055 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the international organization mentioned in the passage.

Options :
UNICEF

UNESCO
2.¢



UNDP

L% UNHCR

Question Number : 64 Question Id : 8657992056 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The word ‘dizsseminate’ means

Options :

L spread

5 % hide

conceal
3. %

secrete

Question Number : 65 Question Id : 8657992057 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which technology involves the translation of information into binary format
(zero or one)?
Options :

Aerospace technology
1.

Analog technology
2. %

Digital technoloov
3 ¥ g 2

Biotechnology

Sub-Section Number : 2



Sub-Section Id : 865799110
Question Shuffling Allowed : Yes

Question Number : 66 Question Id : 8657992058 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

The newly matalled camera were broken by Vinay.
A B C D
Options :
A
1. ®
B
2. %
C
3.¢¥
4% D

Question Number : 67 Question Id : 8657992059 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose correct sentence.
Options :

They purchase vegetables worth five hundreds rupees.

1. #

They purchase vegetables worth five hundred rupees.
2. ¢

They purchase vegetables worth five hundreds rupee.
3. ®

They purchase vegetables worth five hundred rupee.
4. %



Question Number : 68 Question Id : 8657992060 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the grammatically INCORRECT sentence.

Options :

Twelve inches make an umit of foot.
1. ¢

She bought an orange from the market.

2. ®
He wrote an essay on climate change.
3. %
4% We watched an animated mowvie last night.

Question Number : 69 Question Id : 8657992061 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Here 12 mv dinner, 7

Complete the sentence with the correct option.

Options :
where 1z yvour
1. #

where 12 vou
2. %

where is yours
3.¢

where was vou
4. %



Question Number : 70 Question Id : 8657992062 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
She says, “I go to gym every morning.”
Choose the correctly reported sentence.
Options :

She say that she go to gym every morning.

l.
- She says that she 1s going to gyvm every morning.
She said that she used to go to gyvm every morning.
3. %
o, She says that she goes to gym every morning.
4,

Question Number : 71 Question Id : 8657992063 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The radio was invented by Guglielmo Marconi.

Identify the active volce sentence for the given sentence.
Options :

Guglielmo Marconi invents the radio.

Guglielmo Marconi invented the radio.
2. %

Guglielmo Marconi had invented the radio.

Guglielmo Marconi have invented the radio.
4. %



Question Number : 72 Question Id : 8657992064 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
You can travel by land. You can travel by water.
(Combine the two sentences.

Options :

You can travel by either land or water.
1. ¢

You can travel by neither land nor water.

2.

You can travel by either land nor water.
3. % '

You can travel by neither land or water.
4, %

Question Number : 73 Question Id : 8657992065 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

We can see anything in the dim light.

Complete the sentence with correct option.

Options :

lainly
L% P ]
, % clearly
3 ¢ scarcely

4 % fairly



Question Number : 74 Question Id : 8657992066 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Giving undue favours to one’s kith and kin 1s called
Options :

ableiam.
1. %

) % nephalism.

nepotism.

neptunism.
4. %

Question Number : 75 Question Id : 8657992067 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The plane accelerated down the runway.

Select the meaning of the word ‘accelerated

Options :
receded
1. %
ncreased
3 % lessened
descended

: MCQ Option Shuffling : Yes

: MCQ Option Shuffling : Yes



Question Number : 76 Question Id : 8657992068 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Pick the INCORRECTLY spelt word.

Options :

Omniscient
1.

Consensus
2. ®

Equilibrium
3. %

Exemplefy
4.

Question Number : 77 Question Id : 8657992069 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Their privileges were revoked due to their misbehaviour.

Choose the opposite meaning of the word ‘revoked..

Options :

cancelled
1. %
abandoned
2. ®
continued
3.
surrendered

4. %



Question Number : 78 Question Id : 8657992070 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

We presented her

Complete the sentence with the correct option

Options :

a beautiful expensive designer gold pen
1.

an expensive pen beautiful designer gold

a gold beautiful expensive designer pen

a designer beautiful gold expensive pen
4. %

Question Number : 79 Question Id : 8657992071 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The women were walking through the forest.
The word ‘through’is a/an
Options :

| % adjective.

) % verb.
conjunction.
3. %
preposition.

4. ¢



Question Number : 80 Question Id : 8657992072 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose correct sentence.
Options :
Air pollution i1s the harmful release of pollutants the air, and affecting

human health into the environment.
1. %

Air pollution is the release of harmful pollutants into the air, affecting

- human health and the environment.

Air pollutants i1s the release of harmful pollution into the air, affecting

human health and the environment.

Air pollution affecting are the release of harmful pollutants into the air,

human health and the environment.
4. %



Question Number : 81 Question Id : 8657992073 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arrange the following in sequence to make a meaningful sentence.
P:  in the Valley of the Kings.

Q@: Egyptian pharaoh who was buried

R: filled with gold artifacts

S:  in a lavish tomb

T: Tutankhamun was an

Choose the correct option.

Options :

T.R.Q.S.P
1. #
T.Q.R.S, P
2. %
.x TRSQP
T.Q.S.R.P



Question Number : 82 Question Id : 8657992074 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
People working in the same office or department are called
Options :

frends.

companions.
2. %

colleagues.
3. ¢

fellpws.
4, %

Question Number : 83 Question Id : 8657992075 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The science of the nature. origin. and history of the universe 1s called
Options :

Astrology.

Cosmology.
2.

Cytology.

leology.
, Speleology



Question Number : 84 Question Id : 8657992076 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
She is good playing the viplin.

Choose the most appropriate option to complete the sentence.

Options :

at
1. ¢
) % with
3 % m
4 % o1

Question Number : 85 Question Id : 8657992077 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
The following is NOT a characteristic feature of an effective English lesson plan
at a primary class.

Options :

(Clear learning objectives

1. ®

Sole reliance on a single textbook
2.

Provision for student participation
3. %

Variety of teaching methods
4.%



Question Number : 86 Question Id : 8657992078 Question Type : MCQ Option Shuffling :

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The first effort to introduce English in India during British rule 1s
Options :

Wood's Dispatch.

1. %
Establishment of Universities.
2. %
Macaulay’'s Minute.
3. ¢
Hunter Education Commission.
4. %

Question Number : 87 Question Id : 8657992079 Question Type : MCQ Option Shuffling
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The following is a useful approach for enhanecing students’ listening slalls.

Options :

Playing audio and asking students to summarize key points.
1. ¢

Giving more reading passages for comprehensions.
2. %

Memorizing the vocabulary supplied by the teacher.

Involving the learners in writing the long answers.

Yes

: Yes



Question Number : 88 Question Id : 8657992080 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to Noam Chomsky, every human child is born with an inherent
capacity to learn any language including a framework of grammatical rules
which 1s known as

Options :

Contextual Grammar.

1. #

Universal Grammar.
2. ¢

Descriptive Grammar.
3. %

Conventional Grammar.
4, ®

Question Number : 89 Question Id : 8657992081 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
This teaching method focuses on speaking and listening, and teaches English in
context without using the students’ native language.

Options :

Grammar Translation Method
1. #

Audio-Lingual Method
2. ®

Bilingual Method
3. ®

Direct Method
4.



Question Number : 90 Question Id : 8657992082 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify a suitable theme for teaching English at the primary level.

Options :

Civil Rights Movement
1. #

Cultural Diversity and Global Perspectives

2. %

Family and Relationships

The Role of Education
4. %

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Mathematics
86579969
4
Online
Mandatory
30
30
30
0
1
865799111
Yes



Question Number : 91 Question Id : 8657992083 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

=~ 45 - -3
If IB{'J_L H: 20%8) Ax(x — B),then A —B =
13x2%(x—4)

TR L3 28%t)
13x2(x—4)

Ax(x —B) ®anad, A — B =

Options :

13
1.¢

—-1
2. %
3%

—13
4. %

Question Number : 92 Question Id : 8657992084 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the ratio from the following which is in the simplest form.
Bob rf&” Dol S8 Srred® 65 3480 JohEol.

Options :

73151
1. %

2.



Question Number : 93 Question Id : 8657992085 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
5 E 4+ 3 E — 4 E =
3 4 5
Options :
937

60

13
60

$32

&0



Question Number : 94 Question Id : 8657992086 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following statements related to 3-D solids.

3-D shoareb Sozofods Sob armes Stsod.

A) A triangular prism has 2 triangular faces and 2 rectangular faces.
2.8 [Behersel D&5e0S 2 (@ghersey sogren spBCn 2 égfjé:tﬁl@ﬂsré DgPED
Sodom.

B) The shape of the face of a cuboid is a rectangle.
é:gaéaéém Gl sng wsedo c%gﬁiiﬁ@“s“tﬁoéﬁ &oénob.

Choose the correct answer.

508 $ETPard) Joisos.

Options :
Statement A 1= true and Statement B 1s false.

arsg; A 0K s0bcim ey B $65008.

1. ®

Both the statements A and B are true.

Cotd amspren A $8din B £5852.
2. %

Statement A 1z false and Statement B 1s true.

s A 565006 2baln arry; B $0856.
3.9

Both the statements A and B are false.

Cotd amspren A $H8din B £8z0:.
4. %



Question Number : 95 Question Id : 8657992087 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose a perfect cube from the following.

B0 —mid b w2 P PIEL e, . Py
=G ol ula v."\_l.iﬂ(a: -::_;Clod:-':l q.J_,-.:i) r,.,{f-':g_{_‘.a,' a.-D?::-.ngCJL:.
= & (3

Options :
50000
64000

21600

17280

: MCQ Option Shuffling : Yes



Question Number : 96 Question Id : 8657992088 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose from the fcrllnjwing which 1s NOT a property for a parallelogram

.I'-‘.f‘ '2-’:.1
508 P& 2

Vol Harosd u@,ﬁ, \230 f.LLé , H50 SPRG DoHBiod
Options :

Diagonals are equal.

E0ren DealmoiT SotPon.
1.¢v ®

Opposite sides are eclual and parallel.

|Tg

8)e008) 20een HaHo BAW KNarosborT GotPon.

Diagonals bisect each other.

éq: e &.,Pjv:\, |C'C-' NBTI:JEI EQE’"!‘S “:ral 3lalile vl

The adjacent angles are supplementary.

f:m‘é gbﬁ"“._u -:\,:J Fgren.



Question Number : 97 Question Id : 8657992089 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

HELRP 1s a rectangle with HE = 6cm, EL = 15em and O 1s a point on HP such
that HO = 3cm, then the area of AEQL (in sq. cm. ) is

ao35&dkio HELP 6° HE = 620.5b., EL = 15 Do.sb., 598050 HO = 3 Do.ab.
ol

wabgén HP 2 0 Hothd 688008, AEOL gace;o(H5.20.80.08°)

Options
90
1. ®
34
2. %
3 % 81
45

4.



Question Number : 98 Question Id : 8657992090 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Read the following statements related to prime numbers.
PTPS Hopws Howosodd Bobd arpied Stdod.
A)  All natural prime numbers are odd numbers.

o TP .

o e
F:';-:\_:;_ ododves L?Jﬁch rﬁO&';F_J {‘_jm cJOE "Eas‘.

)

B) All prime numbers have only two factors.
B85 PPN Dogsen Cotd seOsrosrerl s @ é%ﬁl@oéﬁﬂo:,

Choose the correct answer.

208 Sargrard; oo k.
Options :

Statement A 1s true and Statement B 1s false.

aeg; A D06 sHBcin oy B $585006.

1. #
Statement A is false and Statement B 1s true.
sesg; A SB3e6 bl arsE; B 50856,
2. ¢
Both the statements A and B are true.
Cotd arsgren A svddin B &880,
3. %

Both the statements A and B are false.

£ P Wi L P :
Cotd aegiren A 840 B Hbses.

4, %



Question Number : 99 Question Id : 8657992091 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The median of the data 4.004, 0.4, 4.04, 4.4, 40004 1=
4.004, 0.4, 4.04, 4.4, 40004 &Ssrodo ang

D5) 80 S

Options :

4.004
1. ¢

) % 4.0004

3 % 4.04

4.4

Question Number : 100 Question Id : 8657992092 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

4,67.280 apples have to be packed 1n boxes. If 3600 apples can be packed 1n

ten boxes, then the number of boxes required to pack all apples 1s
4.67.280 56y

e i
0 58 2BE B TEDHROAR, @l
. 00 ol

88° 38 Baird. 3600 s B
2
3

L=5
P S — £t 3
'f"é{:ﬁlﬁﬁ;_m; aPr5 DONTEPS ey oJ€JeD e@ambo?
B

Options :
| % 129

130

3 @ 1298

1300



Question Number : 101 Question Id : 8657992093 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A sum of money invested at 8% per annum for simple interest amounts to
16,512 in 2 years 6 months, then the sum invested 1s
ot Tramy B 8% HETen S0 2 HodEre 6 Juebh Fordes HEEE Indo

T16.512 e0 ®wond, @Hen aoi?

¥13.760

Question Number : 102 Question Id : 8657992094 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
4 3 : :
If - of a number exceeds = of the same number by 136, then the number 1z

o

-~ .3
20gr 3D = 2 griio @ Doy NGy a

'DJ'_‘

: i

= ol il s

3 geiio S08 136 05 wons, @ Doy
L)

| % 280

5 % 230
)

3. ¢ <
380



Question Number : 103 Question Id : 8657992095 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The ratio of the diameters of two circles 1z 5 : 7, then the ratio of their areas in
the same order 1=

i

o S W . _\"- L Tt e . e
Cold Ry@re sPle Jdaye 3 @ 7 @on

£
|'|__,
TR,
£
o
o
E:l
;
[l
il
T
ol
|:t-
gE
I e

Options :

25:49
1. ¢

Tl
2. % 25
3 % TS

2F 51
4. %

Question Number : 104 Question Id : 8657992096 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose an INCORRECT statement from the following.

Eob dd” Do H0SPN TPrgred oS ok,

Options
2% = (20000)°
1. ®
Ofn % — Gt
2. %
3. % gr=

(—2)* < (-3)°
4.9



Question Number : 105 Question Id : 8657992097 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The mean of =1x ogbeervations 1z 76. If one gbservation i1s removed, the new

mean becomes 79.2, then the removed observation 1s

#

6 TrdHe woBiaE oo 76, 8 ol a8 Trdh) & efode SHAdH Trde @osiiad



Question Number : 106 Question Id : 8657992098 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the sides of a right angled triangle from the following.
8o 8&° S0l wonste Bibeo g gheroin QoHhs ol
A) 30 cm. 40 em, 50 em
30 20.80., 40 D0.80., 50 Do.&o.
B) 6cm, 8em. 10 cm
6 20.50., 8 Do.&b., 10 Do.5s.
C) 23 em, 24 cm, 25 cm
23 20.80., 24 D0.8v., 25 Do.&o.
D) 8cm,9cm. 10cm
8 0.85., 9 2o.&n., 10 0.5s.
Choose the correct answer.

E
=3 st o £ o
-:\L'ﬁ"j\% wﬂ_lj'u?_icv:\..am::‘ wotNSof.

Options :
C & D only
C & D simgah

1. %
A & Bonly
A& Bsrgh
2. ¥
A & Conly
A& Cirgss
3. %

B & D only
B & D sire



Question Number : 107 Question Id : 8657992099 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

0.49X0.49-0.24X0.24
0.25

Options :

L& 0.73

Question Number : 108 Question Id : 8657992100 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
3 X 108millimeters =

I
3 X 10% odahésdyp =

Options :

3 x 10 kilometers

3 X 10 8% oesthy
1. ®

3 x 10*centimeters

3 x 10* 2080eh

3 x 10°meters
3 X 102 fper

3 x 10%kilometers

3 x 102 86 ey
4.



Question Number : 109 Question Id : 8657992101 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of lines of symmetry 1n a rhombus 1s

"
Y T Ly CEEY By Sort SR
2.8 man Do (Troaq ) 6o FPas 0P o)
-4 ) =) o

Options :

4
1. %

0
2. %

=
3.¢

3]



Question Number : 110 Question Id : 8657992102 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If XYZ 1= a right angled triangle at Z, then with which of the following
measurements can we draw a unique right angled triangle.
Z E?E_I o008 w0 é@p“é &gheo XYZ mond, 508 o Fodas LHdo o.f 288 wonS e
E3gher o) AGHH ﬁ;?
A) £X= 30" and 2Y = 60°
2X = 30" %Bcin Y = 60
B) «X= 60" and XZ = 12cm
£X = 60° $08050 XZ = 1230.8.
C) XY= 13cm and XZ = Sem
XY = 13 0.8, %860 XZ = S 20.5.
D) YZ=12cm and XZ = 9cm
YZ = 12 %0.&. 58050 XZ = 920.8.
Choose the correct answer.
585 BErmard, Johsiod,
Options :
A, B & Donly
A B & Dir@a

1. ®

A B & Conly

A B& Cimsa
2. %

A.C& Donly
- A C& Dirgad

B, C & D only

B.C & Dsrgd
4.¢



Question Number : 111 Question Id : 8657992103 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Archana has 7350 in the denomination of 10, 20 and 750. If the number of
710 notes and 720 notes are equal. the number of 750 notes 1= one less than

that of 20 notes, then the number of 750 notes 1=

o
e,
=9
&Q
-
¥
A
o
o
=

*8
=i
“H
=
=
23
&
&
[
F-:E‘
i,

To Rty G:ﬁ ¥10, 720 3960w 750 SPén dndo

720 & Jogy Seirdore sof, 120 e Hogr By 750 T Dozp .86 &S58
il -5 - Biai ok

&5 dond, T50 & Doy

Options :

1. % ’
2. 1
3w O
sx ©

Question Number : 112 Question Id : 8657992104 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If A 1s a point 1n the exterior of a circle with centre ‘0’ and radius ‘r’, then

1 .= £ # P Sl o # i O # o ] o ey T _H—.'"' v i
O’ So|tio 0BE&W ‘T Te-ardo BOHAN 2,8 erarr grliod” A 2.5 Boths) wond, @aitd
. o s

Options :

3.¢¥



Question Number : 113 Question Id : 8657992105 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A fraction is divided by reciprocal of itself. It is then added to the original

: ; 7 . ;
fraction and the result 1s 9; , then the fraction 1s

oy i

¢ and
of A : o o - Ty 2oy o Ty adh o oy & oy B wrl T
B STy T HyEshain & grAod HOP D odes HTmR8 5058 9;.4).@@@

)
F-"
k8

i

o o BT L/

2

Hinod, 8 &

Options :

8
¢ 3

9
2. % 4

7

3
3. %

10



Question Number : 114 Question Id : 8657992106 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct statement related to numbers from the following.

808 7o S0d Hogre Somobod) 588 Trand dosos.
L. f=) [ (=4

L

Options :
All whole numbers are natural numbers.

& "WD{:QE"-‘&E S5ees o,

ot 2l
1. %
All whole numbers are integers.
o N . —%
&l o TPOSReD of° Oroogired,
= ] ] v
2.

All integers are whole numbers.

s TR A [0
& Jrdogen JJrue o058,
1 g ,

E5

&

All integers are natural numbers.

-
G G e
F:".!r_n;_ adP Qe QD cool™ 83 03‘-3&;3.
5 g )



Question Number : 115 Question Id : 8657992107 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The following aspect(s) does NOT reflects the nature of the Mathematics
Eof wodo(en ) Heddo GInE) Serardy LTSI
Options :
Inductive deductive reasoning

sH80 Aisnd @B@__E’;o

1. %
Rational thinking
Irdatm adtss
py
2.
Problem solving skills
SNEV Ny 535.::4'?&5 JeyeTesen
3. %

Social skalls

4. ¢



Question Number : 116 Question Id : 8657992108 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the learners are able to classify different geometrical shapes based on

certain properties and justifies the reason to do so. falls under the following

Academic standard:

. . - - & AT A \ . - -
ogrRShe 5 ofmre sprdorr 0 ergEhedd o5 e $05800 wrasie slard)

(%]

200, ©6 & Gob I Eairere HHHEE Hhod

Options :

Problem solving

508 HOAF,B0

Representation and visualization

P800 soBdm Gy3:808s

2 (]
2. %
Reasons-proofs
5o 6P 0 — el BI° 6 )EGED
3.9
Connection
10 TPSE0

4. %



Question Number : 117 Question Id : 8657992109 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If a teacher makes the learner to discover the relation between any two
numbers 1s that the product of any two numbers 1s equal to the product of their
LCM and HCF (GCD ) by making him /her studying on different numbers, then
the method of teaching is said to be:

2.8 GalPTRaind werHad 55 % Do 8o TohEo T Agae Cotd Soge

| . 2 D o

Options :
Deductive

atisn®Ho

Induective

=Tt
2.¥

Analytic

DFHem 8

Heuristic



Question Number : 118 Question Id : 8657992110 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
If a teacher wishes to identify the learning deficiencies of the learners in the
mathematics, the types of evaluation, the teacher has to choose 1s/are:
re38os® warihe wis Sared HBomrekol), Gargraingd Bob Sirerosd
Do (deraren) JothE D
A) Formative
BTz ol B!
B) Summative
Dofisrerme 8
C) Diagnostic
&% Apdes
D) Prognostic
R85 5es
Choose the appropriate response from the following

Bol BetS a6 ol 888 HA0EEH Johs ol

Options :
A & C Dn]y
A & CirEd

-

1. ¢

B & C only

B & C sr@s
2. %

C &D 01113'

C & D srEad
3. %

A & B only
A & Bsrgd



Question Number : 119 Question Id : 8657992111 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the given resources, which one is the best resource in Mathematics
which gives real life experiences

B SH5Hed”, HBEos” Je: 208 wligarod wobod &8 H%H 26

Options :
Mathematical Models

B s s :
HeBE DT aren

1. %
Simulated learning using ICT
ICT &58mAot) exn8tes @ai;:d0
2. ®
Field wvisits
S& Sotitben
3.¢¥

Classrpom activities

S518 58 SOSeraren



Question Number : 120 Question Id : 8657992112 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

As per the Herbartian steps of a lesson plan. if a teacher connect the concepts

that to be taught with the pre-concepts the learner has, then this step 1s

known as

o Y y ve g T & Al
Ewiloly E,JQEE 560 orTeBoin Ode
o At
A B A ad o OB st
BDETP a0 B0l gt Or ERa0ne Do) QL

Options :
Assoclation
Pomdo
1 ] \?'; £l
Recapitulation

T 6;513 5:-;

Application

e B B
x:'.‘c\Hc,'.\j_R‘Cf'

3. % =

Generalization

LJ"
Lr,

JPRrDes50es0

Environmental Studies

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :
Number of Questions to be attempted :
Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

86579970
5

Online
Mandatory
30

30

30

0

1
865799112
Yes



Question Number : 121 Question Id : 8657992113 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If someone wants to reduce fat in their diet, which of the following should they
avold eating regularly?
20 51 5B 50" B3y ._iino 8 re%ol, Bob aB& B Esho dinHor &ddo

5550

e0S aee)?

Qr
0

Options :
Fruits and vegetables

200D snboin Eromrdben

1. %
Dal and rice
SEOMESlsleavRAlewie
2. %
Chapati and salad
S R R =
DalPed 300K QEPE
3. ®

Deep-fried snacks and butter

PRI o000 B, SBan T
4.



Question Number : 122 Question Id : 8657992114 Question Type : MCQ Option Shuffling
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
During January to April, egg prices are high. This 1s because of:

239830 tholk amd Sk, D8 BBen L8 Gotron. BAS s28eso:

Options :
Low demand for eggs

/}_,{ :_,{_L # N o T £
e #8y Girol Gotido

1. %
Most of the eggs are used for hatching
TRer H5% 1HERD SréRothd eddrRoddo
2. %
Increased egg production
o &8 NS0
3. %

Import of cheaper eggs from other countries

580 Og%e ok T°88 MDD BIDHE BNE Hto

: Yes



Question Number : 123 Question Id : 8657992115 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Blue Revolution refers to:
O aso 28 dreddob:
Options :

Increase in milk production

% .

T e I R R
e 68,84 BB

1. %
Increase in food grain production
- . P
@:R0 prame 6E 88 DHhde
2. % = Z
Increase in fish and aquatic product production
Deoen Hodn ze 68 % 6888 DHHGe
3. ¢

Increase 1n oilseed production

$r3fome 6886° 2SS



Question Number : 124 Question Id : 8657992116 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following animals move by alternate extension and contraction of

the body using muscles?

Options :
Earthworm

PP o)

i

1.

Bird



Question Number : 125 Question Id : 8657992117 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The speed of the wind is measured by an instrument, namely

p s P U VN P 4 y- PO I ey S
8 3wy 8.8 HBE80 triTe SPenalrth, TP Bt

Options :
Thermometer

.
P a0830

1. % &

Barometer

.
— i 2
PO ae6

Hygrometer

bﬁ&&g
3. %

Anemometer

B T N . S )
odedol ™o 0820

4. ¢



Question Number : 126 Question Id : 8657992118 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Match Renewable Resources in Column I with their Unique Features in Column
II and choose the correct anawer.
sresn I 659 dHEE Hdded e 11 &2 78 88 elrredt asdiidod $8dam

= ey o Tt 2
STo mﬂJJ'TE:‘FJC‘;_ u:a_.'CJ‘r_._OgbOL:.

Column 1 Column 11
s | scoan 11
A) Tidal energy 1)  Requires consistent wind speeds
e F5 2B O slio @Fddo
B) Biomass i) Exacts heat from the earth’s crust
odrsrEDh HrHtioo ol éé‘gﬁ; Roiarnod
C) Wind energy 111} Depends on gravitational pull of the moon
20 ¥8 Holtha) thae 506 ¥57 errdal Gotnod
D) Geothermal energy  iv) Utilizes decaying organic matter
aram 45 L8P HZ Do ST
SHGrAohHotnod

Options :
A—1, B—in, C—11, D—iv

1. ®

A—m, B—iv, C—1, D—u
2.¢

A—ii, B, C—i1, D—iv
3. %

A—m, B—1. C—iv, D—1
4. %



Question Number : 127 Question Id : 8657992119 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following best describes the result of ignhoring the golden hour after

a serious accident?

L= RV & 4 s R E - a0y 2 A s O p— 2 & oh =
BRHDD Psrto dooE A°BR @b 5 BodEo He 50N HDEc), Sob FES° b P
Z 2 =

asBrnob?
Options :
The patient might recover on his own

o

A rsdore oS Eaf.:}

1. %

It reduces the risk of infection

88 8351 P, 8Adod
2. %

It gives more time for rest before treatment

56 D585 awoth Jros B:hE NS 8y Hidird) aiod
3. ®

It mcreases the risk of severe complications or death

o For=o ot 5 & 2 q £t
= 9_4|:-:3-:1_:@ PJ:JA:':“J""’J éf‘"‘:’ Solies :I};JE-J_,TTE&EO?EJ@C?E]

4. ¢



Question Number : 128 Question Id : 8657992120 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Wool 1z a poor conductor of heat because:
&3, @isn ﬁ.{; TIrEo aothol:
Options :
Wool fibers are made of keratin.

&3y Troren SUPERE” SRS étjf:m:r:;o;;.

Wool absorbs moisture, preventing heat transfer.

e écmng Iﬁw”x_-cl&l. ﬁai :.J-EJ@E\_: o Ff‘;:-r:u&.
el : s
! = 5 =

: MCQ Option Shuffling : Yes

Air trapped between the woolen fibers prevents the flow of heat.

tiol) TPUPR 5‘5)6,‘5; ﬁé}éé}cﬁ; e 1:%5_;{ @E-FEL-“?E& 35“@%’3_:_-05.
3. ¢ )

Wool has high thermal conductivity.

ot a5 L b
t5e) BOS5 o) RS8N 5OA Gotnod.



Question Number : 129 Question Id : 8657992121 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Usually. cotton plants are cultivated in this type of soil

= o et W N V- M Y i S e SO . I 4 S
PTrSesore, 38 dndiecd & 5558 dod® Dol

Options :
Sandy soil

i
e é gr=EH
eSS e

1. #
Clay soil
f:oéa&-‘éé e
2. %
Black so1l

Se BRE Se
3. 7
Saline soil

N6 IO
4. %



Question Number : 130 Question Id : 8657992122 Question Type :

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the correct statement from the following.
Boh BE° ¥BS TS HBoPod.
Options :

The human skull 1s made up of 22 bones.

SPEH 230 22 Lsinded” Sreroboiinlod.
1.¢¥
The human skull is really a single bone.
P33 20 Verds 2.8 nd.
2. %

The human skull consists of 20 bones.

5% B 20 snBedh DA sotnod.
3. %

The skull 15 not at all a bgne.

MCQ Option Shuffling : Yes



Question Number : 131 Question Id : 8657992123 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the following diseases with their causes and choose the correct option

i~

Eobd e ad sOmro8” el 30 O8N 00 BPd; JoidE ol
4 )

Diseases Causes
aeslioen heren
A)  Dengue 1} Fungi
Goiirg 2dogre
B) Elephantiasis i)  Virus
Shtiseen o]
C)  Tuberculosis 1) Bacteria
Eab & :é%e‘i
D) Eczema iv) Parasite
e STEED

Options :

A-nB-w C-mD-1
1. ¢

A-nB-w C-1D-m

A-wB-1C-n1.D-m

A B -33,C 3.1 v
4. %



Question Number : 132 Question Id : 8657992124 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The first dam bult across the Godavar: River in India 1= located at:

r o

grl80d08” Rmrsd 63 8008 dndé &—-’»!Eéér'sé- aégji &oh:
Options :
Dhavaleswaram
£ J—': r_hl_ =y
L% $58E:50
Bhadrachalam

) % Prdeo
Gangapur

Home:ges
3.¢

Rajahmundry

Tressnof
4, % )
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The word monsoon is derived from the Arabic word ‘mausim’ which literally

means

L o AToe 5. ,,—_‘: Ty AT - - - .
PEPS @8 Hio FPHY o8 89888 Ho Dol 6500008, A3 F_i?fgﬂ
A :

Options
Season
200D

1. v

Pressure and wind

=]

A

A i £k
#ERo s08din anao

pressure of air

&
e S0

Precipitation

BHarHEO
4. %



Question Number : 134 Question Id : 8657992126 Question Type
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As the river flows further from its sgurce, it becomes

el

P

£ T T SN A L A0~ “"':\. g B 5 i
26 PR creo ool nbod nolhs Emairod 58, @b

]

Options :
smaller and narrower

LB 080D HHBNT Wa)iod

1. %

Smaller and lengthier

D50 H80 PEIT @&
2. %

broader and bigger

StenyT boin 2R6M™ vysod
3. ¢ h

lengthier and narrower

SPEAT SHBa sHhdhir adod
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Correct Marks : 1 Wrong Marks : 0

Carpathian and Pyrenees Mountains are located in this continent

m

Lo LA To V)

o/

# e E\E w3 s - o : . =X
D 308010 BIB HU;Bren & Porod” Gaow

-

Options :
Africa

g
Bja5®

Asia

(=1
g3 enaiTe

2.8 o

South America



Question Number : 136 Question Id : 8657992128 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per this article of the Indian Constitution “the state, shall within the limits
of 1ts economic capacity and development. make effective provision for securing
right to work”™

e Treroliod ) & whsde @5edo "U:'é'_l:] i) ?{sg:é aRsnto obdin @

(=41

ot - = ad LAY S F S " sl 2 30
20bfnided ol O ﬂ::‘é.,éra §®&,G£:1'3.T3§_‘ ;_DJ{;;JMJ@;G ':""UDLE“"'; D358

Options :
Article 51 A

Article 41

wHE5s 41
3. ¢

Article 24

650 24
4, ®



Question Number : 137 Question Id : 8657992129 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A book “Satyartha Prakash” was written by

-
[ e {=a Y] e BV SR .S - kL

{u"j":}'f:' (035"%cy Bl o J::*u:\_::‘ﬁ_ ':jL_-DL-R"cpJ:'Ei
@ - "

Options :

Swami Dayananda Saraswathy

-

o - ¢ g
oordl B8N0l S85:8

1. ¢
Swami Vivekananda
-8 SaseRHol
2. % -
Rama Ermshna Paramahamsa
T Bays st eod
3. % =

Sir Syed Ahmed Khan

I e A R L
96 HAhh wir6 R
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Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following is NOT the function of the President of India

8od ES°, ridE TT“E;JJ:_& 6 PR
Options :
He /She decides whether a bill 15 a money bill or an ordinary bill

B8 /@D .8 Sen (1355 Der dop ot DHer @ ?Jgr:uoéﬁii
T 5

1. ¢
He /She calls for the joint session of the Parliament
BE0 /@5 ridos 6t SErawas Heos)darth

2. %

He /She appoints the Chief Election Commissioner and other Election

Commissioners

B8 /@D BHErS i fe 50N 000 380 J B SN0 Achiar

He /She declares National Emergency as per Article 352 of the Indian

Constitution



Question Number : 139 Question Id : 8657992131 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
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This turned out to be the first all India Struggle against the British
Government although it was largely restricted to cities

26 HerEsore Siiores 2B8IXNES R HEherRs HET5ore 385 i v

e
- [E] o ]

E

hilets RN le
Options :

Kheda protest Movement

£ o I .
PG AOLS B30

1. #
Ahmedabad textile worker's agitation
o rerh 83 5850 so8ES
2. %
Champaran Campaign
Hoartt Vol EH
3. %

Rowlatt Satyagraha

= &
O'e6 o@tiaro

4. ¢



Question Number : 140 Question Id : 8657992132 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Sardar Vallabhai Patel who sent armed forces to Hyderabad to integrate
Hyderabad state into the Indian Union i 1948 was a/an
1948 &* 3riStrers ooaPR) 2r8E crAohESt DOKo DoLwAE Fang Bereid Hobd
c\I““E Hogr & D8, s B
Options :
Defence Miniater

B5es 300

1. #
External Minister
OG0l Lo

2. % )
Home Minister
Noils) 3008

3. ¢

Prime Minister

-

El@“‘{“l

o

=
CHed



Question Number : 141 Question Id : 8657992133 Question Type
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As per Chola Insecriptions, “Vellanvagail’ refers to

2 st L 3 E = 4 f o e
5°¢ Frdare |3;5°'5C1'. Ef_ﬁﬁ al”{ Eheled MFL'H_{Oa

Options :

3. %

4. ¢

the land gifted to brahmins

t Ak v Oy -
EPaenes 2088008 &b

the land gifted to temples

= e T, e T
Garerdire oS80 2rdn

the land gifted for the maintenance of a school

Zrdare Diires 550 o0EBods 25

the land of non-brahmin proprietors

e P58 Bkok Bo8S 2D
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Correct Marks : 1 Wrong Marks : 0

In the context of the Ryotwari system, which of the following best describes the

status of the “Ryot"?

Gend $536°, D 98D & Gob T8S° 26

™ D36:nod?

s:g,

b

Options :

3.

Tenant-with no legal rights over land

AV IRy Telin i:ieéf 0% a“é,m: GRESTaais
®
Gm-‘ermnent—rec:}gnized proprietor of land directly paying revenue
[P ({20eeNs errdird), 30 1805 SPobd AP
L 4
Zamindar acting as intermediary in tax collection
By Sirend® S50 S5ir003 esdbowrb
%
Landless labourer with temporary cultivation rights
T - L —ch-\. st
@08 i e el 0850
. 3



Question Number : 143 Question Id : 8657992135 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0

In India, the Primary Health Centres (PHC) are located at the

.H s,

29 %mo:,:

UJ.I'.\
UK

ol Jor - iy
POE0E0d", ErHing e E“ Sf:ﬁl.u_l en =S e

Options :

Village Level

P aPond®
1. # 7

Mandal Level

; P '
v lalat ol Lo vela)
@

Divizion Level

EDmS E‘J:r:-:oé’”

District Level



Question Number : 144 Question Id : 8657992136 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Mahesh deposited a sum of Rs. 10,00,000 in the State Bank of India Savings
Bank Account, for which

LEES de erro5 eh BolAT™ Hdok: ) EP05 grare® s, 10,00,000 Fneery BalRed
Fatd, BB e

Options :

Mahesh receives interest

Mahesh doesn’t receive any interest

£oarR DtnHol 6 wotHs%o

2. %
the rate of interest received by Mahesh 1s more than the interest paid by
the bank on Fixed depoaits
L5 @othHa Q:TJF‘ Cén 25,8 cﬁﬁﬁ#@ e85 sz $E0en ol . %58

3. ®

the rate of interest received by Mahesh i1s more than the interest paid by
the bank on Recurring deposits

40575 @othdha %6[& Téx BEBoR Aara 63 @705 E{'oé ‘é(f Oéxn Bodl 8



Question Number : 145 Question Id : 8657992137 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following, the most appropriate method of teaching EVS 1s
S08 8 EVS 6555 w¥ 08 $5mdEDs 558
A) Participative activity based
gPiar oG Sooeides 80
B) Discussion oriented
S0y eaebdo
Choose the correct answer:

I r— T w - # ,-..-E
288 Sdrprard) wothEob:

Options :

A only
A G&TI@EJ
1. # N
B only
c::"IEEJEHS
2. % .

Neither A nor B

Azth Boets

Both A& B

A & B 3o
4.



Question Number : 146 Question Id : 8657992138 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A class VI student heated wires made of iron, copper and aluminium and came

to know that they expanded. He comes to a conclusion that all metals might
expand on heating. This 1s

o . == L = o el
2.5 VI 858& e f:n =y A b ee nj.»md‘u':]&“ 2D @'ﬁ I I AR o by s, ol

ir g J: P - L . R n L AP S on
5 D000 Bendnhard. ol Fifen 36 Dobdo o B N08 Hi5)0 98D 8

(=5 [ ¥} L) Tar

29

P - R .
M55 B,
]

Options :

1.

Inductive learning.

4

Deductive learning.

o) ﬁn_l:l'.% 'g'-.,., "n'_“l EéD

Demonstration oriented learning.

- ”;c‘jtﬁﬁ srod wif=ido

Project based learning.

,j_:-"r_ 5 "—"EID“F"G ﬂ:.,"’h; ra0
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An EVS teacher asks her students to think and answer “Why do woollen clothes

glve warmth to our body?" This question iz a/an

k

- o 2 pet - . o ] i
&5 EVS earrydintren &5 drghod “6d) abe 5S4

= I, TR By oy e ot - 4 R :
Baron?” @l ed Dol Hrprdo 3Rl @tDih®od. & Y, o8

Options :
Objective question

OFES @)

hypothetical question
BB ETES B8
analytical question
DI S 5%y

3. ¢

factual question
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Which of the following statements relating to Environmental Studies (EVS)
are true?
58T P30 Homobod 8od REDoS e KB HN?
Aj Human being 1s a part of environment
SPHH0 H85506* 2.8 grifo
B) Man is a social being
£oR)Ey 2.8 Koo B9
C} EVS does not cover the interaction between humans and nature
EVES &rdaden s08050 088 oGy $38:500 S585;:0 8ot HdseBoith

Choose the correct anawer

50 BEPERRrdy Jod Dol

Options :

A& Bonly

A & B 5read
I

B & C Glﬂy

B & C sir@Eah
2. %

A & Conly

A & Csm@ad
3. %

AB&C
4. %
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Historical method and Problem Solving method

t?&lfig {:Cllilf:'_'} 5‘336(&3 v:\,c-.:_,w cu "ﬂc'lgr':l ol ,_;:-_l}
Options :
both are teacher centered

Dot aarerdh SoHE Esd

1. %
both are student centered
Cotlr Jue; E‘: 2o E}:. Y allada)
2. ¥
are teacher centered and student centered respectively
HEBP GareeaDh SofE 886 HiBan Joe:d BopE ERS6
3. ¢

are student centered and teacher centered respectively

B ey Eﬁ 5@@% B8 s0day F“"’Jmﬂ -6 So E‘é 06
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‘Write few slogans on controlling the river pollution’, this question 1s aimed to

achieve this academic standard.

%8 senaP:dy Daho@osSto 83 ol IPresd Tvehol’. & H¥) of

Wt

T . o
[0deld® Eﬁcwc’-‘_ @é@ufﬁf}.

Options :

2.¢

3. %

Questioning - Hypothesis

BRyotEo — 588

&)

Appreciation values and creating awareness towards bio-diversity

23
&
I8
&
25
i
£9
2h
!
3%
o
24

%o Hbdn £5 Fao & 2082 @MY Edyodito

Communication through mapping skills, drawing pictures and making

models

sirefiof Feyersen, Digren Acho 8o Ssrar

ol Sairs Fchio T

i

weirdo woboito



